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feoqufy: sterer s T S 9 T TI-07 FT 39 6 AT f{ear 71 SRSt feT we W
H AT, aeeq T Tl T ATEAH UF of g7 AT« |

1. Fafefaa i oy =T fifer 7x4=28

Explain the following with reference to the context:

(F) T FETG TRATI FEAT-I AT T-T0 |

F9ar/ OR

faferema: giereT w9-Tq-Teg-eqart SfaeT: T |

CIRIEEL AT | IRAAT A [UITATH I ATATITATS: |

FI4T/ OR

I, ATTLNTATIRIG AU &0, T |

(3T) ATHTETTRT0T = Qoo | Aeaeeoraeaee: T e ||

94T/ OR

[N [N o
FAEITATTETI LI ATATHRHET AThaTH |



(=) F3eT faresT <eeh Qe T O |
FFEAAL G AT ST TF TF T |
4T/ OR
T FETEATE faferd o\ O | qhuTd S AT T A |
ATEATEdRE T HEaesT: =T 9aq |7 i

2. Fwferfee o feoaft forfe e+ & v @9ga 9 26 5+5+5+7=22

Write notes on the following in which one should be in Sanskrit:

() FAauur-froreraTaa Ry UE/OR - IETRIY AT

(@) FTaar g FI4ET/OR FTAGAT Tl ST ATHH
WEIBEE FAAT/OR AT ATHAA A AT R0l
GEER FUET/OR  TTATE FT AT U THAT
3. (%) THATIT % AT FTA-FET0 FHIoT | 10x2=20
Discuss ‘dravya (substances)’ according to Tarkbhasa.
IYd1/ OR

e T o SATAT THTOT-AA &7 [Aa=e FLd gU HOAT 6l FHAT |

Explain three types of causes while discussing the definition of pramana (process of

knowing) according to Kesava Misra.

(@) ATTTATT & ATH FATT HT FAT I g0 ACHATTT [FAT AT T I

LI GUSH T AU AT |
Discuss particular super-impositions related to self and their mutual contradictions

while giving the definition of super-imposition according to Vedantsara.
FI4ar/ OR
ATAEN & AER THAIT T AQd TAT AO9azeaaq] 3 qaai & [@ag &

BREUEIREEEL Sl
Discuss the resolution of the contradiction between the $ruti’s T-HAHT T HId’ &

HIHATI*2=4H according to Vedantsara.



